R&7FA~ EHE ESEOME &+8 o1

ROGHEZ® L. 72720, EAE/FE2 0K (S22, Afh20®, B# 30, C#507F% )

(1) —-4-5 2 —-6-7 3) -9-11

(4) —-15-—23 (5) —37-25 (6) —49-51

ROFEEG L. 7L, BLBEEOF X, $12, () 24 L @R b T
(SH25F, Af40®, BR14r, C#H1520%)

(1) (=3)+(—4) (2)  (=8)+(-13) (3)  (—14)+ (-11)

@ (=27 +(-9) (5)  (—15) +(-25) (6)  (—33)+ (—28)
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3. ROHEZE¥ L LFL, B2REFEEOT L (SHK128, AF20F, B30, C#Hs50F)

(1) -3-6 (20 -8-9 (3) —-5-15

(40 -18—24 (5) —14-—39 (6) —22-—718

4. ROMFEERREEL EEL, EAEEEEOT L. 7, () A LT LHET.
(SHk25®, A0, B 14y, C#145 208 )

1) (=2)+(-H) (2 (=9) +(-13) (3)  (~15)+(-12)

@ (=26)+(=9) (5)  (~19)+(-31) 6)  (—23)+ (—39)
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REFAL HE EROME &+8 01 RE®E

1. XROFHEZE X L, 23/ 5%220 k. (SHh12/, Af20®, B#30#, C #5078 )

* T&+8, HodEzERLCT T—) 220 5%.
AR EDRELESTH LI RAITHEAL A=Y

(40 —-15-23
= —(15+23)

= —38

(2 -6-7 (3 -9-11
= —(6+7) =—(9+11)
—_13 = —20

(5)  —37-25 (6) —49-51
= —(37+25) = —(49 + 51)
= —62 = —100

2. ROHEEGE EEL, BAREEEOT L. £, () A LghR LT

kA adhLli +(-A)=-A

(SHk25®, A0, B 12y, C#H1520%)

— T+ 3%k, T—, 138, &2 3

+(—A) 13 TRDOH, , —ALED.

1 (=3)+(-4) (2 (-8)+(-13) (3)  (=14) +(-11)
=-3-4 <ZoOoRAPHNIIOK =-8-13 =-14-11
=—(3+4) =—(8+13) = —(14 +11)
=7 =21 =25

@ (=20 +(-9) (5)  (~15) + (~25) 6)  (—33)+ (—28)
=-27-9 =-15—-25 = —-33-28
=—(27+9) = —(15 +25) = —(33 +28)
= —36 = —40 = —61
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3. ROHEZYL XL, E2EF55%2000 k. (SH12F, A0/, B#30#, C#H50% )

(1) -3-6 (2) -8-9 (3) -5-15
— —(3+6) = —(8+9) =—(5+15)
-9 =17 =—20

(4) -18-24 (5)  —14-39 6) —22-78
= —(18 4 24) = —(14 + 39) = —(22478)
= —42 = —53 = —100

4. ROFHHEZER X LEL, BARFEEOT L. £k, () 2ALEHRbLHET.
(St A0, B 145y, C#143 208 )

(1) (-2)+(-5) (2 (-9)+(-13) (3)  (~15)+(-12)
— 25 - —9-13 =-15-12
— _(245) = —(9+13) =—(15+12)
— 7 — —22 =—27

(4)  (—26) + (-9) (5)  (=19)+(-31) (6)  (-23)+(-39)
— 269 ——19-31 = -23-39
= —(26+9) = —(19+31) = —(23+39)
=—-35 = —50 = —62
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